
Time: 10 Minutes Paper Math 6 (T-1) Total Marks: 10

1st Month, 3rd Week, 3rd  Day Unit # 1: Factors and Multiples

Q.1. Choose the correct options.   (1 x 3 = 3)     ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) Three bells toll at regular interval of 10 minutes, 20 minutes

and 30 minutes respectively. If they toll altogether at 12:00

noon. At what time will they next toll together?

WWWW12:00 4444ÆÆÆÆzzzzMMMMÐÐÐÐ¿¿¿¿÷÷÷÷XXXXZZZZ¤¤¤¤////ŠŠŠŠzzzzPPPPÆÆÆÆ 30 4444ZZZZzzzzgggg 20 4444ÔÔÔÔ 10 &&&&^̂̂̂VVVV!!!!****nnnnKKKKMMMM

ZZZZÇÇÇÇ����ÂÂÂÂ¾¾¾¾zzzz‰‰‰‰ÜÜÜÜzzzz{{{{ŠŠŠŠzzzz!!!!****gggg{{{{ZZZZÇÇÇÇ����ÏÏÏÏ????
(a) 12:00 pm (b) 1:00 pm (c) 2:30 pm (d) 3:00 pm

(ii) What will be the greatest length of measuring type which can

be used to measure exactly 160m, 180m and 200m length?

¢¢¢¢aaaaMMMMððððÃÃÃÃååååîîîîgggg6666,,,,eeeeöööö™™™™nnnn???? 200 ¢¢¢¢aaaaZZZZzzzzgggg 180¢¢¢¢aaaaÔÔÔÔ 160 eeee››››¯̄̄̄ÅÅÅÅiiiicccc****ŠŠŠŠ{{{{ÐÐÐÐiiiicccc****ŠŠŠŠ{{{{MMMMððððHHHHƒƒƒƒÏÏÏÏ����
(a) 6cm (b) 25cm (c) 15cm (d) 20cm

(iii) Waqas is planting trees. He has enough trees to plant 7, 9 and 15 trees

in each row. What is the least number of trees Waqas could have?

7777ŠŠŠŠ}}}}ÎÎÎÎääääÆÆÆÆaaaa»»»»°°°°7777ŠŠŠŠ}}}}÷÷÷÷XXXX 15 ZZZZzzzzgggg 9 ÔÔÔÔ7 zzzz‡‡‡‡mmmm7777ŠŠŠŠ}}}}ÎÎÎÎgggg;;;;ììììXXXXZZZZkkkkÆÆÆÆ0000****kkkkCCCCÙÙÙÙ····gggg~~~~

zzzz‡‡‡‡mmmmÆÆÆÆ0000****kkkkÁÁÁÁZZZZiiiiÁÁÁÁŠŠŠŠgggg½½½½VVVVÅÅÅÅ®®®®ZZZZŠŠŠŠHHHHìììì????
(a) 310 (b) 315 (c) 320 (d) 330

Q.2. Find the largest number which when divided by 24, 36 and

60 leaves 3 as remainder in each case. (1×2=2)

!!!!****¹¹¹¹gggg{{{{YYYY@@@@****ììììXXXX 3 ÐÐÐÐ„„„„™™™™ääää6666,,,,CCCCÙÙÙÙßßßßgggg]]]]~~~~ 60 ZZZZzzzzgggg 36ÔÔÔÔ24 ƒƒƒƒÐÐÐÐ((((,,,,ZZZZ°°°°ŠŠŠŠ¥¥¥¥xxxx™™™™,,,,TTTTÃÃÃÃ
Q.3. For an admission test the number of participants in grade

vi, vii and grade viii are 60, 84 and 108 respectively. Find

the minimum number of participants who can sit in a row.

QQQQyyyyzzzzZZZZgggg÷÷÷÷XXXXQQQQyyyyzzzzZZZZggggzzzzVVVV 108 ZZZZzzzzgggg 84ÔÔÔÔ60 ŠŠŠŠZZZZ¼¼¼¼±±±±ÆÆÆÆaaaa¤¤¤¤////iiii++++iiiiÔÔÔÔ‚‚‚‚]]]]ZZZZzzzzgggg¤¤¤¤////iiii++++WWWWJJJJ~~~~!!!!****nnnnKKKKMMMM

(1×2=2) ÅÅÅÅÁÁÁÁZZZZiiiiÁÁÁÁ®®®®ZZZZŠŠŠŠ¥¥¥¥xxxx™™™™,,,,����ZZZZqqqq----····gggg~~~~ÖÖÖÖMMMMhhhh÷÷÷÷XXXX
Q.4. Three local taxies A, B and C arrive at a stop. Taxi A arrives

at the stop every 20 minutes, taxi B arrives every 30 minutes
and taxi C arrives every 40 minutes. All three taxies arrive
at the stop at 10:30 am altogether. At what time will the
three taxies arrive at the stop again? (1×3=3)

CCCCÙÙÙÙ B 4444~~~~6666\\\\6666,,,,BBBBììììXXXX.... 20CCCCÙÙÙÙ A ZZZZqqqq----6666\\\\6666,,,,ââââ÷÷÷÷XXXX.... C ZZZZzzzzgggg BÔÔÔÔA &&&&ßßßßÀÀÀÀÄÄÄÄVVVV
6666\\\\6666,,,,BBBB÷÷÷÷XXXX¾¾¾¾ 10:30am 4444~~~~BBBBììììXXXXÓÓÓÓxxxxÄÄÄÄVVVVZZZZÇÇÇÇ 40CCCCÙÙÙÙ C 4444ZZZZzzzzgggg.... 30

zzzz‰‰‰‰ÜÜÜÜ6666,,,,ÐÐÐÐVVVVÄÄÄÄVVVVŠŠŠŠzzzz!!!!****gggg{{{{6666\\\\6666,,,,qqqqÏÏÏÏ????
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